
K�!"�#���$%&��!'��$% �()*( �+�,�-(.,/

�����������	
������
�	��

���������	

�������
�����������	���	��������	
����
��������	��
�����
����������������
����	����
��

	!!"#$%&'
H������������������9	�7������������<���7�7�������7�����������:?����7�����	4�<�������������>��;

7����	�>���4 �
�����1�����8��1���	�>���4�����<����8����������>�����9	�7������������<��6�������4�;
��������<�������������>��7���	�>�����������������	�����������12���8������6�����8�����������������6��
2����>��7��������	�����4�� 

r	�7������<�>��7��� ���	�������4� 7�7� �����
��������8��������	�������9	�7���>��7�2����8��;
������7	��7�26��7��42���������2���8�������F���7�
����	
��:��4�����F������7	���������7�;���	���;
>��7�2�����>�������7��>��7����������2�������6��
���	���>��7�2���<����	���>��7�2�97����������26
���	�������42� �� ��	����� <����	����� ������ �
������6�������8���������7����>��7�������8�����
� �� �n����������������
�9	�7������<�����G4��4;
���4���	�1��������������9�������>��7����������;
����4������8�����6�����������
:���	�>���4���G�7;
����12����������>��7�2�������7��������	
F���
>��	��9	�7�������12�����7����N�7	���76� �7������
�������6��������������
:�������7����� �� �H�9��;
������������	
��6�>������>�����������?���4�����
���������7�9	�7������<���N�9	�7���7��������<�4
N��������������������������������2����������>��;
7�2����8���� �0������ �� �������������>��7������;
���������9	�7������<�����	�7�������>�����1 

���>���������<���>��7�������������<����8�;
�������9	�7���<����	���>��7���������	��4�	4:��4
7	���>�1�� -��������1�/�����������1�����8���16
������4?���7���4�	���:����8�<�>��7�2��������;
�12������8��	���N������8��	�����7�4�-��	4����8��/
������������4�-����	4����8��;����	4����8��/ �r��
�����8��	1������?����������1��7	��7�� �M1����4
������7�����8����������	4����8���N�����	4����8��
2���7���������4����������6��������1F�:?������;
	�����7���16�����������������>�������������������
�������������1�4>����8 

_������6�>�����7����1���������4:?���4����;
9	�7���>��7��������	1�2���7����1�	�F
��	4�����;
�1������12���������;�1F�>�12��7������������;
�1��2� ����������46� ����7��������� 9��� �����	1
	�������������������	����������12�9	�7���<����;
	���>��7�2�������7�r$=6�rr=6�r�=����� 

_��>���	
��4�>���
�7	���>�12�����7����-9����;
	��	
�126���	�7����12����������	
�126�7����126
2�4?��126���2���	
�12�����4��>�12��7����6�����7;
������7�2��������8������������/���9	�7���<����;
	���>��7����	����2���7���������4���	�>����4���
�1���������������������������8��	����7�4 �H�;
�	��������������	4���������7�������8������1����;
���8��	�����������������������	
�������	:�����
����������������	4:?��6����4�	4:?���4��������;
��>����
:������7�����������7�-���������������������

7	���7/6�>��� ��������������>�������������������
��������������������7���������7�2�>������-$�|/ 

0�	�>������������12����>��������	���������;
�4:?�2�4� 9	�7���>��7�2� �����8��	��� 7	���7� -�
�������7��������������/����������7�7����	���1�
����������1�������>��7���7�	�����4�����������
�����G�7��6���7�����4�	���������	���>��7�2����;
8����������� �H�9�����9	�7������<�4������G�7��
�����������	�����$�|��������������������
��1;
4�	���:����������>��7�2�������7�������	���>��;
7�2� ���8������ -�����	���	
�126� ��<�78����126
��7�	���>��7�2����� /6�����7�������F�����������;
��>��7���� 2���7����6� ������4?�2� 7� ��������:
�����������������8��	����7�4 


���7����������7����97��	����8�4�����������;
������������8���7���������>���46����������>��;
�12��	4������1����������9����>����������������;
��6�4�	4���4���2��>��7����	����	����������>��6�>��
�������4�����������7�������������������������;
7���������������8���7�:����7��7� 

�����������1�������7������2��>��7�����������
9	�7������<��6�����	
����1���	4������������8��;
7��9	�7���<����	���>��7����7���������7	���>��;
�7��������������>��7���������4����������������;
8�����	�>���4���8����� 

H���������1������������9	�7������������;
<�4��-r�=/��������������
�����������4�������7�
���	�������4�9	�7���<����	���>��7��������������;
����>��7�2� ����7������8�����������������	����
$�|�-�����,�=8/6���7	:>�:?�4�4��������	4����
�������������	����������4:?�2�4����9	�7���>��;
7�2������8��	��������	
�12��7��>�����7��������
>��1��2�7���>�������-^6�}6�~���B/6�������������
�2������8��	��6���������8����������	���8�����;
	�>������9	�7��������1 

H�����������7��������7������2��>��7�2��������
r�=�����	
�������4����F����6����������7����12
�������������� 

-���.������
��
�� ������
� ���
���
���
�����
������������ /+0

�����	�����������	
������������>��7�������;
F�����������	������������9	�7���>��7�2������;
8��	���4�	4���4�������7�������	4��12����������6
���� 7������� ���?����	4���4� ���������� ���;
9	�7���>��7���������8��	����	:���������������>;



3 �!"�#���$%&��!'��$% �()*( �+�,�-(.,/

�����������	
������
�	��

7�������G�7�����������	
���������6� ��	�������;
	�������>7�6������8��	�7�������������������42
�������4������4��1� �H����������7���������7�
��9	�7���7��������<���4�	4���4������	4���4���;
�����������12��������������0�	
�����-��������4
a*�a3/�������	
���������������	
����9	�7���>��;
7�����	�������>7�6�<���>��7����� ��?�����:?��6
������	
�����	�>���������� �����8��������8��;
	������2�7���>�������N�^6�}���B 

0�����1�������������7������	����������<�;
8��������4��������������	4��12����������6����
7���������<���>��7�:�����	
������G�7�����	���;
�����4�����	
��4� ��������>��7�4�7��<�����8�4
9	�7���>��7��� 8���� -�� ��	�>��� ��� ������	
��7�
r���2��������9	�7���7��������<��/ �0�����	
��4
��	���4���>7��<���������4�����9����9	�7���>��;
7��������������������8��	���>��1��2�7���>���;
����N�^6�}6�B���~�-�
����/ 


�����
�����������������
���
���1�����������2� �������
���

n��	���8�4�����	��������������7����������;
�4���������8����������	4��������������������;
���8��	��������	
�12��7��>�����7���������>��1;
��2�7���>�������N�^6�}6�B���~ 

��������(��	�������
��������)��*����
��*���+��
��		�������
	����
�,���������
+����
*�ϕ

-
%�ϕ

.
%�ϕ

/
���ϕ

0

��������1
���������	
�
������		���2�����
�,�����
���
+����
*��3�������
�������2���	
���
�)�2


4�
�����2%�����������56�
������
+�����	��+
�
�
��������0789

]���>��7���-9	�7���>��7��/�����������������;
�����8��	���7���������7���>����������?����	4;
���4������������?���4��2������	
�12��>���7����
�����>7�2��� 9	�7����������1��<����	���>��7��
)65E;�1������������~S[e����G�����������12���;
���8��	�����9	�7���	�������� �H���	������4���;
����7���G������������8��	������������7���7���;
�������	������:����8����1���������46� ����7�
���� 9���� ����������:��4� �F��7�� �������<��
9	�7������6�����7�������<�7�1��������4�-�
����/ 

����	���>��7�����������������<�7�8�����	�;
>������������	��7�7�9	�7��������1���������8���;
����	�������������4�-n �]�		
6�H�7�"���0��I(J6�I,J/
��<����8�����4� -9	�7���>��7�4/� ��4�
����2�����;
������ �7��������������6����?����	4���4�������;
������
• 9	�7����������12����7�2�����7���� -���9	�7;

���	����/� ���������� -7����6� 	��<16����7	�;
��>�������7�������� �� /P

• ������1�9	�7����������12�������N�����������
�����	���>��7���7����1�����>7��� 
��	�>�������>��	���12�������4?�2���������;

���	4����>����
6�>��������	
�1���7��>���4�7���>;
���������������<����8�:��������4�������2�����;
��>��7�2��7�����������������8����� �v���4���7�
����9����������������?��������:���<����8�:��
	����� ���2���� 7��������� ��	�� ��8�����6� �����4
�����N�����������������7������������ �� 

��������1�����>���4������8��	���7���>������
^6� }6� B� �� ~� �� �>����� ���7�� -� � � � ������	���4/
����8���:��4� ��� �<����������1�� ��� ��������
7���
:�������������������^;~���};B6�����	��6�7�7
��7����1�� ��	�>��16� �������:��4 � �������1�
���9	�7���>��7��������8��	�������������������;
�4�����	4�������������7���������������;��7�����
	6�2���7������:?������	�����������>�������7���;
����6���7��������14�	4���4������	���:?������>�;
������������8��	���������������8����� 

3������������� ��������

��������	
�1�� 7���	�7�� -�
��� ,/� �7	:>���� �
���4� 7���	�� ��8�����6� 9	�7������:� �������6� ��;
�����?�:�9	�7����1�(;����������L������>7���	4
7���>������� �� 9	�7���	����� -<����	���>��7��
)65E;�1������������~S[e/6������7���	
�1�����;
	���	
����9	�7���>��7�2������8��	��6� �2�����2;
��>��7���������������	���46�������>���4�9	�7���;
>��7������������������8�����6�%#H��������<���
ILJ;I.J �H�����������������>�������97����1��<��;
�1�������������1��������������	6�������:?��
���8��	
������2��>��7�����������7� �0�>��	����;
��>�2�97����12�<����N�	���;��7������8�����6
L��������12�9	�7��������1�7���>�������)}6�)^6
)B���)~����������	
��4� 9	�7��������������	4�;
�12�7���������2 ����������������	���r�=�����>�;
����������������������-��������6���6��������4��
���	�����8����1�	�>���46���������������	���8��
��� �� /�������>���:������������
��������4������;
����2�9	�7����������������7��������	���������;
��>��7�2��7�������8����� 



.�!"�#���$%&��!'��$% �()*( �+�,�-(.,/

�����������	
������
�	��

��������(��	�������
���������������./:-0�����������������	2�; �<�ϕ�<�� �	=>?
�
���)���2��
+
���������+
������
��)�����;�>%���,�
����������	�*�;
>

��������@
6�*�������	
���
�)�������	��
��������4�
������	������A��?��%���#�4�
�����2%���������
��2
��

�����+�����������

�>


>



D �!"�#���$%&��!'��$% �()*( �+�,�-(.,/

�����������	
������
�	��

0�2��������7�;���	���>��7����9����������1���;
����	4	�4����	������;<����1�����������r=��	4
�����1���	�����������12���8������6� ����������;
��4���������	�����426�����7�������<�����������;
��>��7���������������-	�>����/���	�����������12
��8�����������8�������w��������1�������	���4�� 
0����������	�����������12���8��������1	���7	:;
>��1����7��>��7��������1��-���������4����	�����/
()   (K;	���������2�	���>��7�������<�������	
��
��������	���1�� �������1� -.3�>�	���7/ �0� ������
��8�������w�����	�����4���������	��
�������?�;
�����������������1�������������4���������;���;
����	
����������1 ����	�������4��������	��
����
���	:����������>�;<������������� ������8������
�����F���:����>���7��1��	��
�7�7��;	���� ����;
�������� 	�>������ <�������������>��7��� ������;
������-������	
������������7�>�����������	
���;
���7�6� ����������� ��	46� ����>��7���� ��	�>���4
����7���7�������6���<��7����������������������;
���������7���6�	������������������	�����������;
	�>���46�9	�7���	�>���4���� �� / 

H������	
���������	�������4��1	�����	��1��	�;
��:?����1���1�
• r�=�������2��	�>�42����������������	
�1��2�;

��7�����	4�7����������	�����������	�7�	���;
���4���7��������6�������	4�����	�7�	���8���
��7����	
��� �7����12� �� ������� ��������4
9	�7�������12�7	���>�12�������7�����;<��78�;
���	
�12����������8�����P

• ����	
���7�����r�=��������������� -()�K/��06
������4���7���������2�^;~���};B��7�������
�N
������������������1��-�
���b/P

• ����>���������76��������������������������7��
���������2����������8�����6����	:�����4�����;
��������������8��	���7���>������6�>�������;
�����4�����������42����	������;<�����������;
������r�= �0�7����r�=6����44��������	�������;
	������6�����12���������9����������	������;
������>���:���������������������1P

• ����	����6��������:?���4��������������	���4
-������>��	���1��2�6�����4����46��F��1����� /6
2���7������:��4�����>�	
�1������������1F��;
�1��-���*))��0�����	��/������������	������r=6
������4�������������������	�����P

• 2����>��7��� ����	�����4� 2���7���������4
����
F������ -��� (�K��0/� ��	�>���������	4
��7�����r�= 
�����1�� <�������������>��7��� ���8����16

��������1�������������	�����������12���8������6
����������	��7���?�������1����������4�������4;
��4� ��8������� �� ��������������� 2���7�������7
r�= �%��7�����������>������<�������������>��;
7���	�>�������8��������������	���	
�1������8��;
������	����������>��7��������������4��������;

��	��7�����
F���:����	����1�r�=�-������?���:
9	�7���<����	���>��7������7�����	4������������;
���������	������������������������1/6�����9���
���G�7����������>�	��
��	�>F����������4��4���;
8������ �H��������7�����������>���12�<������;
�������>��7�2����8�����2��1	������>��1��	�>��
���	�>���4�����	4������	��r�= �H���<��������;
�����>��7���	�>�������8���������2����>��7������;
��	�����4��� ������;�������	
���� ������1� ��;
�	:��	�4���������	����1����������	
�12����>�;
������� ���>����6� �����������:?�2�������������
����1�r�= 

/0
�12�*
'3�('4�56

* c�*1=�A�E�� H��������>�4� ������� ��������4� �
9	�7���7��������<���U������1���7	�����L;�����>;
��;��2��>��7���7��<����8��������7�;��2��>��;
7�����2��	���������������������
4� �N�� ���=�q
�� �� r �M������6�())( 

( d1**Q�e���������<�>��7�����	���������>�7�����;
�������9	�7�����	�������� �����* �N�� ���!'%n�6
*55, �())�� 

, f(2�gh3�B4@�c884�
�/4�����"��7�������4 �N�� �
���"��7�%7�����46�*555 �*(L�� 

L [�
R1�QN8�c�E�@�E3=�2
V�i�D�@�c�*1=�A�E����2��;
>��7���������������������:?����7�����	4�����	�;
>�����������	�>��7�2� ����	������ ������1���7;
	�����U�3;4����>��;��2��>��7�4�7��<����8�4����;
��7�;��2��>��7�����2��	���������������������
4� 
N�� ���=�q��� �� r �M������6�())L 

K 9�'jT1=�A�9�@�D<4'
8�i�B�@�c�*1=�A�E�@�/4R*1+
)1=(�c�E��������7�����	�������4��������	
���
9	�7��������1�>�	���7������	���
�������������4
U�0���������7�4����>��;���7��>��7�4�7��<����8�4
������4������7��7����������� ���2��7������� ���2;
��	����� �N�� ��0������6�())3 

3 c�*1=�A�E�@�e3)�1=�D�P�@�d3C1�1=�/�9�@�?4S4(�E�/�

8��7��7����7������������	4��12�������7�����;
��������������8��	���U�������������4����>��;
���7��>��7�4�7��<����8�4������7�;��2��>��7��
������>���������������	
�12��>��������� �N�� �
%���6�())5 

. c�*1=�A�E��H���7��������������8���7�2�����;
����	
�12� �������������	�� � |���
� ( � ������;
��	
�1�� �������������	�� 9	�7���>��7�2� ��	��
����������������� -���9	�7���>��7���9	�7����1/
�	4� ���������� 7������ ���7�2� �� ���7�2� >����� 
N�� ���=�q��� �� r �M������6�()** �DL�� 

A�
V�E
21*(3=
S�c�*1=@
2(8C��'3T8��8(42@�C1-38'@

2(O3C�(�)
1W3C
-
8�2
T�'3T8
S3�2
T��
�'3W@
:[�\�
W��E�]��Y(4W(8(@

R��:1�2=(@
$+^M�H6� I	HI�^�#G`^M�H�	G

X���X���X���X���X


